Resonance

Resonance is said to occur when the current is either maximum or minimum for a particular frquecncy of
the AC input. At resonance circuit impedance becomes minimum or maximum. The power factor of the
circuit beomes unity.
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Resonance is said to occur when the current is either maximum or minimum for a particular frquecncy of

the AC input. At resonance circuit impedance becomes minimum or maximum. The power factor of the
circuit beomes unity.
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Resonance is said to occur when the current is either maximum or minimum for a particular frquecncy of
the AC input. At resonance circuit impedance becomes minimum or maximum. The power factor of the
circuit beomes unity.
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Resonance is said to occur when the current is either maximum or minimum for a particular frquecncy of
the AC input. At resonance circuit impedance becomes minimum or maximum. The power factor of the

circuit beomes unity.
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Resonance is said to occur when the current is either maximum or minimum for a particular frquecncy of
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